= AH O
M = 0l &8 AF & H Al A
2000 &= 20l A L BHS| H|
2A: BAHEIFARA=S LR A
. ALstNEstES RS (BH/BAH98)
ol BESEFI|Ie R Y (&2 &)
_ _ - HEc
2N -3 - c2(3H) - NEME - HES @/\_FOH Hns
BHSHFARA=S2L A 1,110,427 847,794 262,633
Aot NIESEAERS(BAH/BAHZE) 213,497 298,973 N85,476
il ESh ol s BN el s 213,497 298,973 N85,476
H==20" A A 213,497 298,973 A85,476
101 Q12| 17,297 17,173 124
10 JIZHZ2=2XANsSES> 17,297 17,173 124
Oagex 17,297
oJlE3 38,850& 1 x255 9,907
OHa0H3 9,907,000 %1/3 3,303
Ox=5Y 38,850& 1«52 2,021
OHAR =S 38,8503 x1H x 15 583
o4t 15,814,000 *8.74/100 1,383
Ooll=tl 100
202 OdHl 40,000 25,800 14,200
01 =2LHOHI 40,000 25,800 14,200
OB HSHHAIRLR2EA 40,000
203 YRF=L&Y| 5,000 5,000 0
03 AMF=XHIFZAH| 5,000 5,000 0
O=2BALERFE 5,000
207 HAFOHEH] 59,000 51,000 8,000
03 A& AHRHI 59,000 51,000 8,000
OH==2 23 MANSEXFL 40,000
OaeEdagtA7Y 12,000
OzEIUS 7,000
405 XHAHFE S| 92,200 200,000 A 107,800
01 XML SEFSHI 92,200 200,000 A 107,800
OJtA3Z0tE ek (GC) 60,000, 000& = 1CH 60,000
A2 X=2=2 D] (Autosampler)
15,000,000 +1CH 15,000
OAEH(=2H) 1,000, 000& =10CH 10,000
O A (0AZ) 250,000 *16H 4,000
[Jo| Xt 200, 000& =161 3,200




SN BABAADAZR|
o NS AAH(2ASIAIA=LXA)(IEHIIE)

Chel: o2 2ol (Sl &8
SN EB -GS - MBAY - BES 0 & 24 e HRE2
HYS AR (FABLADAZDT ) (IIEHIIEH) 896,930 548,821 348,109
o122 et) 856,880 518,520 338,360

o122 et| 856,880 518,520 338,360
101 9I21t] 798,460 481,580 316,830
o1 =2 491,604 289,373 202,231

O=3 453,788
O E(052) 4,021,200% 2% * 122 96,509
OHA(215E) 2,246, 4002 112 x122 296,525
OJIs82(2752) 2,052,8002 1%+ 12 24,634
021593 (155 2) 1,505,000 x2% + 122 36,120
O&0i2 37.816
oma+g 453,788, 0002 *1/12 37,816
02 +g 112,410
DER224+E 37,405
SNEELRN= 37,405
-mous 8,312% %152 * 10A| 2+ 122 4,962
- EZDE 8,3122+ 152 » 15| 2h+ 12 22,443
Omou+g 75,005
OXNs+g 3,403
- Xt 40,0002 162 +0. 78+ 128 5,991
- RYUNE 20,0002 162 1,48+ 122 5,684
-z 30,0002 * 162 %0.30+ 122 1,728
OPUEETHIEE A= 4,666
- S5t 51,4002 162 +0. 19+43] 626
=t ¥ 420, 7902 1624 %0. 15+43] 4,040
OF-ER=P/FNE 15,960
- 251014 130, 0002 +2% » 122 3,120

- 20110/ &4~2511 D] B
10,0002 +1% » 12 1,320
- 15L014~20018F 80,0002 +9% * 128 8.640
- 10H014~15E018F 60,0008 *4% * 128 2,830
SEETEE RS 9,240




SN BABYU A=)
N HHSARH(EABZAPASLNR)(OIEHIIEH
9l ol 2| (29 & 2
_ _ _ Muo
SH BB O(B) - NRAY - BAR Ofl &F o8 il i~ o Hn=2
SETES 50,0002 * 1381 12 7,800
-23 40,0009 +3% * 122 1,440
ORHBAIALY 50,0002 %22 » 128 1,200
OB+ 12,513
- 1593 (155 2)
1,505,000 * 12 »4.8/ 100+ 128 867
-EINHEE)
2,246,400 x92i x4.8/100% 128 1,646
om2YRLY
4,021,2002!*124%9/ 100+ 122 4,343
Sl:E=ERY= 80,0002 * 138 %122 2,480
ONSHEHLIH YR+
40,0002 *12 %128 480
SLIEI=ERY= 30,0002 522 » 128 720
03 FoUZ Al 24,960 15,600 9,360
O G| 30,0009 162 122 24,960
04 DEBEH] 24,840 15,480 9,360
Ol a2 140,000% 224 %122 3,360
O RA 30,0002 1124122 17,160
(0715892 120,000% 32 %122 4,320
05 YEEIM 45,379 26,712 8,667
EEEEP/T 453,788,0002+1.2/12 45,379
06 JHHIXI ] 75,632 44,519 31,113
mpIS TN 453,788,002 +2.0/ 12 75,632
07 oobB A 23,635 13,913 9,722
D oh2 Al 453,783, 0002 +15/288 23,635
203 YREIH| 8.140 6.400 1,740
IPIEEEEEETY 3,300 3,000 300
OX 8= 3.300
02 FAINLRFAY| 640 400 240
XA D= 40,0009 #16% 640
04 FNEIYREIH| 4,200 3,000 1,200
(171294 (3024 01 51) 350,0002! %122 4,200
204 ML 46,440 30,540 15,900




SN BASBHADAS S
M HHSAAH(2ASPAPA=SLTR)(IIEHIIE)
Chel: olsie o (cHel: @ el
SN -BH - S(B) - MRAY - BES 0f &k e Hn=2
IEEEEEREET] 6,000 4,800 1,200
OXa® 400,0008 « 19+ 128 4,800
EnEs 100,000 « 1%+ 128 1,200
02 =ZE=H| 32,040 20,340 11,700
43 400,0009 x 19+ 128 4,800
Oetpp 250,0002! * 124 » 122 3,000
Dot AL 15,0002 112 12 20,460
(1015893 105,000 «3% * 128 3,780
03 SHYR+HSSH| 8,400 5,400 3,000
Do g syl 50,0008+ 14« 128 8,400
303 Ea3 3,840 0 3,840
01 =2 3,840 0 3,840
OgQoegag 80,000%42 » 122 3,840
Jl=3 40,050 30,301 9,749
Jl=23 40,050 30,301 9,749
201 gty 39,550 29,801 9,749
01 At=2telt| 20,750 14,125 6,625
mEEES=1] 12,900
OANREELSIIE2H| 9,400
OASAXHIZDEY| 2,000
OMBAH+LHIISASHel+42 1,500
Ol =l 2,850
OMsAMES 2,550
opla= 300
mEEE] 5,000
O R2HALETZ A 5,000
02 =Bl 18,800 15,676 3,124
OZZRILHA 1,000
ORWESILEES 1,000
OAZZHIR X 11,000
OABATH LAREIIIISKI 11,000
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